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(1) Question Noul s compulgary.

B any fo e :
(2] Splve T1 Y . e ':]'llE:-’.[-UI'I:- aul of remaining six questicrs.
| ) Use of smith chary iz nllowed
| : - ’ - =
| (4) Figures 10 the Tight indicate fu)) marks,
| ver e ar tnklateral f 3 . ) 2
. (n) W 18 20 WILIMET Beure of merit af an amplifies? 5
Y R e PRI 3
B (b [efine signsl 10 noise ratie and noise Gzure with belp of a noisy netwotk. :
B De fine stability. List the *e'E.l'r'mus critesia for stabilivy. ;
B @ Faxplain the :2T0S Conversion loss and isojation witl; reference to mixer
E' 1
I 5 (ay Foron ideal trans [ormer with turns ratia o v/, Prove thal the seatiening M2t 10
.' 15!
|_Fi.!—]. An I.
- L4l W+l
; g = :
i ‘ in l=w
I a L 1
E '+l w41
E i- - s “1_!]1.:]_3 .-__:l-. lﬂ
() Discuss anplifier ncarization methods.
- A Gats FET has the following 5-]]31’31]131:% and noiss parameters at L0 "JE‘II- 20
J- ! & — L - -
1 |:2'| =304 Su = 0.61 =-135°, Su ={{|ﬂh S“ =5.0< 130 S'-J =0.51 = -2l
! - \ n :
T =3B, I, =045 <1807, Ry =J§3:‘f? Dezign & Low noise amplifier for a notse
amin = 1 L= -_-.
i figure of 3.5dB and power gain gff16 db.
: e i
q. () Derive the transducer pnw;;{;‘ga_n as _

| p AR
|

ERs: L
LS -1 o o o B
5 | o
Designa erw;ismﬁ&é cillator at4 GEz vsing GaAs FET incommen gate vorfignration

| By : l T i *
1 wilh SnH ind apor in series, Commer gats conliguiabion S-parameters F:rL:. .
| ; 50 = ~ogl 8 =126<18, 8, =052 < 155

f §, = ME,_% 30, 8, =273 e, 8, . )

i Select {50 that Ty, >1.

!= ..'":‘*J

L 25
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ods of designing broadbang ,
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; "'1
'i T i..-ﬁ
.-f‘*
fﬁ"hn, -

agrams IWe meth Tplis,.

d . » pscillators.
£x (i usin k_suunhlr: ik Tt microwave oscil
3, [a) e Fuq-:g:ﬂf““m turng II
lbr | 2 - i
-ail single ended diode mixer. Also L'-cfﬂ m;naxc deamrt:aspﬁ
det E s ra tatrequancy of 1 L
b, (a) Hgﬂf"::‘;r 30me and Ve = . 10 V is operatec @ q “'-"1-& f
{bF ‘_'IL Wil ‘ :
A0 ﬂ'::'-:-l.:.‘lll? e 807 5] - 0.0, 5 = 4 .45 < 65°
Sy = 07 o 7 5, calcuIatf::ht. optimum ter.
Is the transistor ur*cundmunalh Siahlt Ifye p thisg,
Gi-u' 1"I:r'.-:-- Jnd Gy, T L’
7, Write short note on ! o~ N h
(a) Noise figure test equipment A
(b) Comparison of micro _'mpllﬂ&md oscillator
: S

(c) 1dB compression point Py
(d) Properties of scattering mar.rm_-~ -
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M.B. :

(2) Attempt any four questions from quest

(3 Hours)

(13 Question No.l is compulsory
ions No. 2 To i

(3) Assume suitable data wherever necessary and justify the same

(4) Draw neat sketches/diagrams wherever necessar:

1. Answer the following. (any four) :

(a) State and explain Kepler's laws? And show that 8., = 42,000 xm. 5

(b) What is mean by polarization of sateilite signals and why circular 3
polarization is preferred in satellite applications?

(¢) Compare LEO, MED, GEO satellites? & 5

(d) Briefly explain sun transit outage? e 5

chrongus ind GEO stationary 5

2. {(a)

(b)

3. (a)

(b)

. 4. (a)
' (b)
5. (a)

(b)

S
Q¥

(e) What are the differences between GEQ Syn
orbits? : ;.

Discuss design criteria and problems cn:numt:ﬁ:}r communication satellite 10

nd mention different sub systems of satell e?

Draw Hlock diagram of transmit received gérih station and explain e2ch block?® 10
)

what is telemetry, tracking and ﬁn&anﬁ sub system? And cxplain it's 10

working with necessary block rjjﬁgrams?
Compare spin stabilization and3* “xis stabilization methods. Mention their 10

advantages and disadvantages?

Explain different tygf"s;ﬁf double reflector antennas used in satellite 10

communication? <>
Explain briefly imj] irtance of reliability, qualification and Bath wh curve? 10
3

What are [ﬂﬁf&uglts? An earthstation is located at latitude 30°S and 10
longitude [30° E, calculate antenna look angles for satellite at 156°E?
Discuss s different launching mechanism of satellite in GEOQ stationary orbit 10

with__p;éccss'm:.r diagrams?

¥ [TURN OVER

e o
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Caleulate the overall [CT] valuges.

(b Why TWT i3 preferred for satellt
aperaticns? Explain 1 dB COMpress!
thiz peint in relation to operating point of TWT? &

7. Wrile short notes on any two! - N
fa) Orbital perturbations with equations x@
(b} Dauble conversion transformers ~
{z] SPAIME system
(d] VSAT

s

%,

P

L
e |
.
I._|::.\_:-I

ey w !
a
Rt

1 1‘;{
te communication and l‘ﬂul_-'.LEuE CATELTS
ession point? And what gignificant of

]
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| (3 Tonrs) [ Total Marks : 1040

RLE.: 411 Question ro P s compuliory _

(2] Allenpt any Four questions from the Temaining six quesiions.
{11 All questions carry egual marks.

: {4y Assumc suileble data i pecessary and juscify the same.

], o) Laplain the three operating windows in oplica’ CoLImuLeatio.

{h) What&re direotend indirest bandgup semicenduclor mareciali.

{2 Whar is the signilicance of'y" nuemibers, Wrile its squation in terms of
&, A (Mumetical Apertuc).

w ¢d’ Haplain ban dwriddth distance produsl.

Lhioun Lh U

2. jap Lwaw remustive indzx crulile of graded index Gber, - pidin how RN {iber ks L

ranartission bl e higher than mulimede stzp index Eber S
by Asilice nptizal fiber with vas diameter laree encogh o be cansiderad by ray theory 10
t s core refactive index of 1.3 and eladding r= fructive index of 1.57. Detennine.
{i) The crilical angle. - i3
(iiy Tl MNA s
{iii} Theacegptancs ungle, T

j-

1. () Sxplainanyone fiber fabricztinn process wifli ncal skerches. 10

' fd} What are the factors that arc l'-:Epl.'unsililh‘K\fjr pptizal sipnal attemation and dispeisicn Lo
during signal propogation through o tal liber,

o _

£, (o) Txplainall aspecs oflink pﬂ‘ﬁ:ﬁﬁ_ud:gc[ and rize time budpet 10

@ (b} Give the structur ofa susfacg Bnitling LEN. Compars il with Sdge emilfing LED. 10

5. fa] Diescrice o methods vz pllm'ng individnal Ebees topether, What acs the sdvantages 10

and disadventages of ggek method?
) Discuoss the D]:Il:ra,?ﬁ}] of slicon RAPD. How il is differenl [rom PIN photodiede? B
i

s ’
iy Explain the » jﬁjng ofoptical recelver with varions NSE SEUrCeS. in
[t} A photodiads has a quantum sfliciency of 83%: wiena pheton of energy of 10

[ 5x1 04§ are incident upon it determine,
f i1 ALwhich wavelength is the photodicde o aeraling
(i1 Cateulate the incident np!EI:E._l pawer requized 1 obialn photocerrentof 2.5

:_."a

A when fie photodinds cpersiing 25 zhowve.

r?..l:f_&‘iﬁ.-':i[_e shem note on any four
¢: (2} OTDR. ib] Coherent and non- coherent oplizal transmission.
: (c) Linearly polarized modss.  (d) Multiplexing of aptical signals.

i
ie) Modal notse.

E -2
L&
F - @P-Con. 11909-15. T
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(3 Howes) [ Tutal Marks : 10

NG, - (1) Questien Moo 1is compulsney
(2) Allept any four out of Pm'.v.i;ling qono. 2 (o 7
(3] Lraw reat Sketches wherever required.
{4y Assume sulable date if reguiped.

1. {x) Why i& poveer control is impartant in COMAY 5
fhy Whatis the difference belween an FSY and ¢ W8S jn the TEEE 802,117 5
b (o). Discuss rwo evolution paths Sor the (83 10 oiler 3G Services. 3
{d) Whetis HSDPa% 5
2. (a) Lifferentiate heraween frequency hopping and direct-sequence speead spectruom. 0
(B Whal erevarions etates in Bluetooth Svstem? Ezxplain dilference between thern. 1

_ 5. (a1 What is 2 WPAN? What is the difference betwesn WEAN ';a'ljlﬂ WLANWT Mame twa gl
. example trchnolopies for WPAT, i

S
(b} What is WAP? Discuss WAP architecture in brief. " 10
4. {3} What is the UMTSY List importznt feamees of the UMTS eir intecTae, n
| {b) IHscwss forward and raverse link chanmnels m {ae cdma 2060 10
=
5. (a) Feplaiz Blustnath protocol stack 4! 10
(b Explain sensor network prolosal %._tﬁ.;‘n;.hiu detail. 10
h &. [a) Explain lnkbudget analysis zuéd rén:!_uj:'n:mcnta oof anrelesy neTwiorss. 10
(b} Thiscuss Wibkf A What are.the main differences betwesn (he TEEE 8T2. 116 0W5-530 10
ard WILAKY L s
J3
7. Write shor notes oo o7
(z}- IEEE Prajecti02 1

(b RFID: ¢~ ’ _ 10

<

. QP-Con, 12121-15.
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